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RS485 Testing program
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Run \RS485_testing\port_mon , select com port , default value : 19200, E, 8,1

- Press Start
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e.g assume your reader ID is 1, then enter “A1B” -> press BCC icon (will cal’ BCC
automatic ) , 0x09 & 0x0D will be added > press send



read reader ID number use the serial no.

enter “AXD””06344856” , press BCC then press send .
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“AXD”’06344856” - read reader ID number use the serial no. “



EH Port Mon 2

| COMT vl Even  w|[13200 | @ []Timerms) 300 | [ascy
‘ [ stop || < Send ‘ () suu ‘ ‘ @ ecc ‘ ‘ 7 cal ‘ | 7 Notepad ‘ % Clear al
> 0409 "81B" “3B" 040D v

0x09 "&1E" "3B" 0x0D

£l

Fxl |Ax2 |Fx3 | Axd | ASCH | A5CN Estend | Help | About |
458513 10:0(7)
Oeld A1 B 063 4(8

Reader reponse :

Ox0A A 1 B 06344851 31 0x0D
06344851 is serial No of the reader
(8) is 8 byte

(7) is 7 byte

Pls try other command , e.g.
“AlF” - read tag ID from reader ID1

“AXD””’06344856” -» read reader ID number use the serial no. “



